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nonoguHy yucna
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Yucrio 18 - amo
noJ1Io8UHA 4Yucsna...
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4 Hauoume A
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4yucJsio, mpems
KaKo20
Komopoz20
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Hns qucen45ub5
Hauodume cyMmy,
pa3Hocme,
—  npou3eedeHue u \
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CymMma Kakux deyx
yuces pasHa 124, a
pa3Hocms - 0. \



Ha kakou KapTou4ke
oTBeT dbonbLie?




Ha kakou KapTou4ke
oTBeT dbonbLie?




PeineHue npuMeposB
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PellieHue 3a1a4 HA
HAXO0KIACHHUE YAaCTH
OT BEJIUNYMNHDBI






1/3 -9 cwm

1/8 — 8 cm

Ya - 12cMm

2 -10 cm

% -12 cm



YacThb= 4HUCIIO : 3HaMeHaTelb *YUCIIUTEIMI



OTkpoute y4ebHunkn Ha cTp. 122 Ne 310 (1)



3 n. nevyeHbsa — 3/5 Kr

10 n. - ? Kr
20 n. - ? Kr
100 n. - ? Kr

1kr — 1000r



(1000 /5) * 3 = 600rp. — BecaT 3 mavyku
600 /3 =200 rp - Becut | mauka
200* 10=2000rp

200%20= 4000rp

200*100= 20 000rp



Ctp. 122 Ne 312 (1)






